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freqstart=f0/100;
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freqstep=10~(log10(freqstop/freqstart)/freqn
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freq=fregstart/freqstep;

for k=1:freqnum
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w=2*pi*freq;
s=i*w;
ABCD=[1 RS+s*L;0 1]*[1 0; s*C+1/RL 1];

H=2*sqrt(RS/RL)/ABCD(1,1);
absH(k)=20*log10(abs(H));
end

figure(1)
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L=RS/(2*pi*f0)*sqrt(RL/RS-1);
C=1/(2*pi*f0*RL)*sqrt(RL/RS-1);

L2=Rr/(2*pi*f0)*sqrt(RL/Rr-1);
C2=1/(2*pi*f0*RL)*sqrt(RL/Rr-1);
L1=Rr/(2*pi*f0*sqrt(Rr/RS-1));
C1=1/(2*pi*f0*RS*sqrt(Rr/RS-1));

freqstart=f0/100;
freqstop=f0*100;

freqnum=1000; 0
freqstep=10~(log10(freqstop/freqstart)/freqnum);
freq=freqstart/freqstep; -0.5¢
for k=1:freqnum figure(1) -1 /
freq=freq*freqstep; hold on /
f(k)=freq; plot(f,absH) -1.5¢
plot(f,absH2)
w=2*pi*freq; 27
s=i*w;
ABCD=[1 RS+s*L;0 1]*[1 0; s*C+1/RL 1]; 2.5}
H=2*sqrt(RS/RL)/ABCD(1,1);
absH(k)=20*log10(abs(H)); BT0F 08 1 12 14 16 18

10"
ABCD=[1 RS+1/(s*C1);0 1]*[1 0; 1/(s*L1) 1]*[1 s*L2;0 X

1]*[1 0; s*C2+1/RL,1];

H2=2*sqrt(RS/RL)/ABCD(1,1); BW, , =16.25MHz—6.15MHz

absH2(k)=20*log10(abs(H2));

end = 10 10MHZ
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L=RS/(2*pi*f0)*sqrt(RL/RS-1);
C=1/(2*pi*f0*RL)*sqrt(RL/RS-1);

=
i

L2=RL/(2*pi*f0)*sqrt(Rr/RL-1);
C2=1/(2*pi*f0*Rr)*sqrt(Rr/RL-1);
L1=Rr/(2*pi*f0*sqrt(Rr/RS-1));
C1=1/(2*pi*f0*RS*sqrt(Rr/RS-1));

freqstart=f0/100;

freqstop=f0*100;

freqnum=1000;
freqstep=10~(log10(freqstop/freqstart)/freqnum);
freq=freqstart/freqstep;

for k=1:freqnum figure(2)
freq=freq*freqstep; hold on
f(k)=freq; plot(f,absH)
plot(f,absH2) 2l |

w=2*pi*freq;
s=i*w; o5l
ABCD=[1 RS+s*L;0 1]*[1 0; s*C+1/RL 1];
H=2*sqrt(RS/RL)/ABCD(1,1); 3 ‘
absH(k)=20*log10(abs(H)); '

x 10

ABCD=[1 RS+1/(s*C1);0 1]*[1 0; 1/(s*L1)+s*C2 1]*[1
s*L2;0 1]*[1 0; 1/RL,1];

H2=2*sqrt(RS/RL)/ABCD(1,1); BW, , =10.89MHz —-9.19MHz

absH2(k)=20*log10(abs(H2));

end = 1 7OMHZ
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RS=50;
RL=200;
Rr=1000;

f0=10ES6;

L=RS/(2*pi*f0)*sqrt(RL/RS-1);
C=1/(2*pi*f0*RL)*sqrt(RL/RS-1);

L2=RL/(2*pi*f0)*sqrt(Rr/RL-1);
C2=1/(2*pi*fO*Rr)*sqrt(Rr/RL-1);
L1=Rr/(2*pi*f0*sqrt(Rr/RS-1));
C1=1/(2*pi*f0*RS*sqrt(Rr/RS-1));

L3=1/(2*pi*f0)r2/C2;
L1=1/(1/L1-1/13);

freqstart=f0/100;

freqstop=f0*100;

freqnum=1000;
freqstep=10~(log10(freqstop/freqstart)/freqnum);

freq=freqstart/freqstep;

for k=1:freqnum
freq=freq*freqstep;
f(k)=freq;

w=2*pi*freq;

s=i*w;

ABCD=[1 RS+s*L;0 1]*[1 0; s*C+1/RL 1];
H=2*sqrt(RS/RL)/ABCD(1,1);
absH(k)=20*log10(abs(H));

T

ABCD=[1 RS+1/(s*C1);0 1]*[1 0; 1/(s*L1) 1]*[1 s*L2;0 1]*[1 0;

1/RL,1];
H2=2*sqrt(RS/RL)/ABCD(1,1);
absH2(k)=20*log10(abs(H2));
end

x 10

BW,,, =11.32MHz —8.85MH:z
= 2. 4TMHz
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